L5

Gy wsi Runowo 4.

i Km PP = 0+251.22

Wsp.N = 5967762.1905
Wsp.E = 3530770.3278
R = 40.0

18

2
PZ: 0+227.8

KEK: 0+222.59 L = 5.26
L=5.261 L=20.737 /o= 7.54
L s Styczna =

2.6
Guny wsi Puis7Sieczna = 0.09

Km PP = 0+189.95
Wsp.N 5967706.2519

Wsp.E = 3530748.4818 L 0+1g Km PP = 0+217.73
R = 40.0\ 4 Wsp.N = 5967733.7329

L - 508 [ Wsp.E = 3530752.5971

L= 728" R = 30.0
Styczna = 2.5 AN L = 9.80
Sieczna = 0.08 AN Ao= 18.73

Km PP = 0+092.32
Wsp.N = 5967608.5879
Wsp.E = 3530747.0821

R = 30.0
L = 12.99
A = 24.81
Styczna = 6.6

Sieczna = 0.72

Grunty wsi Runowo A7,

Jezino G bocze Mz/

Km PP = 0+076.47
Wsp.N = 5967594.9565
Wsp.E = 3530738.9517

R = 30.0
L = 5.91
A o= 11.28
Styczna = 3.0

Sieczna = 0.15

Styczna =

4.9
Sieczna 0.41

Km PP = 0+155.31
Wsp.N = 5967671.6150
Wsp.E = 3530747.7336

R = 40.0
L = 3.85 lz
A = 5.51

Styczna = 1.9
Sieczna = 0.05

PLK: 0+111.90
R=30.000

Km PP = 0+113.63
Wsp.N = 5967629.9901
Wsp.E = 3530749.3344

o R = 30.0
/ L = 3.47
/ = 6.63

Styczna = 1.

1.7
Sieczna = 0.05

e . PLK: 0+085.72
y // _/ Gunty wsi Czamul/ R=30.000

/
/ o/ gy KEK: 0+079.41
/ L=6.311

LPLK: 0+073.51
R=30.000

-
by >
£%u £ :
25/6 .E:’; g g 2
£ e
v Eﬂ% E ERRS
- Wwa g = 4 ¢
& -8 & 4
oﬁ@ AN 2 2 g 5
m(ﬁ 1 e 1 % f a g
Tas
POCZATEK OPRACOWANIA: 0+000.00 veglE3E| O |2 | .
- N "y )
SEEE281 2 | 2 |8 s
El =
$e|2% | A K
4.-_' 1 X329 =
755 % | | oy |34 F
- .o = = z A
=@ | .E | B | F |8y
0] s 5| % o |FRES[y
EE | 8 | § |fyEEl
N =] - ;i&“ 3 a
- 20 g | o |5d{3%)d
BEE | |13
- [~ Eg
R -
== = B R 2
E g & & g |85 g
et > <a} N 2 E
o 109,/ = =
<
N z
g " bl <
< -F L < 3
S| o | 95,4 |4 i &
AR
1077 wn = o BEEE | B s %
d OX 2 | BE5% |Y 3| ¢
/ . zd | 2 LPEE |E i ¢
Z T AR R
R 0 ° 29 O SN [ 4Ei|d ¢
4 - & 45 T |%Ei|4 &
/w a 29 |4i%|g¢
, %;) o & E &




